7  Ella recorded how many of each flavour of ice-cream were sold in her shop one day.

Ice-cream Flavour Number Angle
Strawberry 48 égg X3 = - gﬁgs»
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Vanilla 31 3x3= 43
Chocolate 29 DG x 3 = 5 ?&
Mint 12 (Ix3 = 3¢°
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23 Acoatis priced £150
With 12% discount in a sale a profit of £7 is made.

What would the percentage profit be if the coat was sold at the full marked price?

Show all your working clearly.
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2 Sean earns £8 per hour for eight hours work during the week and double time for four
hours work at the weekend.

Jane earns £9 per hour for six hours work during the week and time and a half for
six hours work at the weekend.

Who eamns more and how much more?

j@w@f\ﬁ» | {LU{E’\D
C? % g = ;‘:;wa NPT AS

“Timne pnd o~ he

{é&’? 61@,,4"2{3 %«g— %50 = 12-50

W el
S0k =B
6w 4 1o of fé

WTV Answer  (JGNE  eamst % more [5]




